
Epreuve 9 : Moins c’est long, plus c’est court

 

 

Hubert has to deliver a parcel to Claudine, one to Lucas and another

He starts off from his own house. He has 2h 45min to deliver all of them.

The diagram shows the time that he would need for each part of the journey.

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

In what order should make his journey so that he can deliver the parcels in this time?

 

 
 

Moins c’est long, plus c’est court 

has to deliver a parcel to Claudine, one to Lucas and another to Karim. 

He starts off from his own house. He has 2h 45min to deliver all of them. 

The diagram shows the time that he would need for each part of the journey. 

In what order should make his journey so that he can deliver the parcels in this time?In what order should make his journey so that he can deliver the parcels in this time? 


